Much Goes Into It

Takes three apples to make a glass of apple cider. (L. M. Boyd)

It takes 40 pounds of fossil fuel to provide a pound of feedlot beef.
(John Robbins, in Diet For A New America)

The greatest number of cameramen ever used for a scene on a motion picture was 42, for the chariot scene of the old silent, “Ben Hur.” (L. M. Boyd)
Did you know that it takes 15 to 20 mosquito bites to equal a single drop 
of blood from an eyedropper? (Jacquelyn Luongo, in National Enquirer)

Some 75,000 acres of forest are harvested each year just to provide the 
paper for mail-order catalogs. When you buy from a catalog, about 20% of the price you pay for your order goes to paying for the catalogs.
(Denis Hayes, in USA Weekend)  

It takes ten pounds of milk to make one pound of cheese. (Don Voorhees, in The Essential Book of Useless Information, p. 231)

After making 11 court appearances since early 1986 and spending more than $12,500 in legal fees for his defense, a Birmingham, Alabama, man has been cleared of a charge he ran a red light. (Associated Press, 1988)
How long does it take to make a 30-second commercial with those singing and dancing raisins? About four months. Each plastic figure has to be moved between stop-action shots. That’s 14 times for every second of action. (L. M. Boyd)

It takes 4,000 crocuses to produce a single ounce of saffron. (David Louis, in Fascinating Facts, p. 59)


According to a United Nations University study, roughly 1.8 tons of raw materials are required to manufacture the average desktop PC and monitor – 528 pounds of fossil fuels, 48 pounds of chemicals, and 3,300 pounds of water. The total amount of materials used is about equal to the weight of a midsize car. (Harry Bright & Harlan Briscoe, in So, Now You Know, p. 36)

Thirty feet of beach sand must be bulldozed away, and millions of tons of rock blasted out, transported, crushed, washed, sieved, processed and 
reprocessed--7 1/2 tons for every precious carat (1/142 ounce) of diamonds recovered. And the daily yield of all the prodigious labor seems ridiculously meager: a canful of translucent crystals, averaging 2 1/2 pounds -- 5700 carats -- in weight. (Ronald Schiller, In Reader’s Digest)

A few years ago when Eli Lilly & Company asked the Food and Drug 
Administration to approve a new drug for arthritis, their application was a bulging 120,000 pages. It took two small trucks to transport the load to Washington. Lilly spent over $15 million on government paperwork, which adds about 50 cents to every prescription. (Joe Griffith, in Speaker’s Library of Business, p. 240)
10: Thousand, the number of tropical sea snails required to make one gram of royal purple dye in the ancient world. (Smithsonian magazine)


It takes about 150 dead ermines to make one ermine coat. (Jack Kreismer, in The Bathroom Trivia Book, p. 44)

A gallon of gas represents what was once about one hundred tons of plant matter. (Don Voorhees, in The Essential Book of Useless Information, p. 157)


In most places on land where gold appears, it is a mere fleck in the 
earth’s crust. In the sea one of the heaviest concentrations is 10 milligrams of gold to 1 ton of saltwater; so 2,835 tons of water would have to be filtered to produce an ounce. Even in a profitable mine, the rate of extraction can be as low as 1 part gold to 300,000 parts of waste rock. (Reader’s Digest: Strange Stories, Amazing Facts, p. 80)

Takes 31 days to make a golf ball. (Boyd’s Curiosity Shop, p. 190)

Bees must visit some five thousand flowers to make a single spoonful of honey. (Noel Botham, in The Ultimate Book of Useless Information, p. 57)
A hive of bees must pollinate 2 million flowers to make one pound of honey, requiring them to fly an equivalent distance of approximately 55,000 miles – or more than twice around the globe. (Harry Bright & Harlan Briscoe, in So, Now You Know, p. 44)
A honey bee travels an estimated 43,000 miles to gather one pound of honey. A pound of honey consists of 29,184 drops. The bee doesn’t do it all in one day. (Bernie Smith, in The Joy of Trivia, p. 98)
To get a pound of pure dry insulin, the processors need the pancreases of 60,000 cattle. One cow’s pancreas will give the average diabetic a two-day supply of insulin. (Boyd’s Curiosity Shop, p. 248)

Interferon is produced in such tiny quantities that current studies of its 
disease-fighting effectiveness must necessarily be small-scale. Interferon 
is extracted from the white blood cells of donated human blood. The entire world output of the drug in 1979 was little more than 1/100th of an ounce: it took 90,000 pints of blood to produce even this infinitesimal amount. (Laurence D. Gadd, in The Second Book of the Strange, p. 53)

Extracting just one quart of pure jasmine oil by enfleurage requires 1760 pounds of flowers. No wonder the oil costs upward of $7,000 a quart today. (Virginia Kelly, in Reader’s Digest)
Typically, there are 250 flowers in a Hawaiian lei. (L. M. Boyd)
The wheat that produces a one-pound loaf of bread requires two tons of water to grow. (Noel Botham, in The Amazing Book of Useless Information, p. 171)

Remember, it takes three feet of sugar cane to make one lump of sugar.
(Boyd’s Curiosity Shop, p. 124)

To provide a modern person with the necessities - and luxuries - of his or her accustomed life, at least twenty tons of raw materials must be dug from the earth every year. (Isaac Asimov’s Book of Facts, p. 327)

In a sense, the French were the first to depend upon airmail postal 
delivery for any length of time. During the siege of Paris in the Franco-Prussian War of the 1870’s, mail was sent out of the capital by balloon, along with hundreds of homing pigeons. Return letters were photo-reduced to one four-thousandth of their original size, then delivered to the capital by pigeon. Thirty-five pigeons carried the identical 30,000-message mail canisters so that at least one was certain to survive Prussian pigeon snipers. In Paris, the messages were enlarged on a projection screen, copied by clerks, and delivered to addresses within the city. (Denver P. Tarle, in A Treasury of Trivia, p. 59)

As many as 50 gallons of maple sap are needed to make a single gallon of maple sugar. (David Louis, in Fascinating Facts, p. 60)

That quart of maple syrup on your table was boiled down from roughly 10 gallons of sap from a sugar-maple tree. (Lowell Ponte, in Reader’s Digest)
The amount of water needed to produce a pound of meat is about 2,500 
gallons - more water than the average family of four uses for household and drinking purposes for one month. In contrast, the amount of water needed to produce a pound of wheat is approximately 25 gallons. (John Robbins, in Diet For A New America)
It requires sixty female or thirty-five male minks to make a coat. (Don Voorhees, in The Perfectly Useless Book of Useless Information, p. 171)

Draftsmen make about 27,000 drawings for the manufacturing of a new car. (Noel Botham, in The Best Book of Useless Information Ever, p. 96)
75,000 trees are used to make the one Sunday's New York Times newspaper. (Richard Zimmerman, in What Could I Do To Make A Difference, p. 120)

Three hundred and fourteen acres of trees are used to make the newsprint for the average Sunday edition of The New York Times.  There are nearly 63,000 trees in the 314 acres. (Isaac Asimov’s Book of Facts, p. 414)

The useful life of a nuclear plant is, on the average, only forty years.  
But the plant will have to be “mothballed” for a century before certain 
radioactive materials decay sufficiently to permit economical direct 
dismantling. (Isaac Asimov’s Book of Facts, p. 108)

How long does it take to make an Oreo cookie? About 95 minutes.  
(L. M. Boyd)
Takes about 720 peanuts to make a pound of peanut butter. (L. M. Boyd)

It takes about four pounds of potatoes to make a pound of potato chips.
(Jack Kreismer, in The Bathroom Trivia Book, p. 86)

For one new product to be a success in the marketplace, it takes approximately 3,000 raw ideas, 300 patent disclosures, 125 small projects, nine early developmental programs -- four that continue to major development, and just under two that are actually launched into the market. One recent study found that newly launched industrial products failed 33 percent of the time; new consumer packaged goods fail to live up to management’s expectations 80 percent of the time.
(Gary S. Lynn and Richard R. Reilly, in Blockbusters)

Some tennis players still prefer to have their racquets strung with natural sheep gut rather than nylon. It takes the small intestines of 11 sheep to properly string one racquet. (Tidbits)

Don’t forget, it takes three pounds of grapes to make one pound of raisins. (Boyd’s Curiosity Shop, p. 187)

It takes about 1,225,000 roses to produce just one pound of the rose attar or oil that is the base of some perfumes. (Virginia Kelly, in Reader’s Digest)

Saffron is the dried threadlike stigma of the violet-colored crocus plant. Its high cost is due to the fact that the crocus only blooms for two weeks each autumn, each bloom has only three stigmas, and it takes about 225,000 stigmas to yield one pound. (David Hoffman, in Little-Known Facts about Well-Known Stuff, p. 123)

You could get a pound of salt – if you went about it the right way – out of four gallons of seawater. (L. M. Boyd)

During the casting of the film Gone with the Wind, more than 1,400 
candidates were interviewed for the part of Scarlett O’Hara, and more than $92,000 was spent in the search. (David Louis, in Fascinating Facts, p. 108)

Such a simple little tool, the sewing needle. Manufacture of same, though, is a complex job. More than 20 processes. (L. M. Boyd)

During the colonial period in North America, a package was not always 
shipped by the most direct route. A package from Virginia that was destined for Massachusetts might be shipped to London, where it would be transferred to an English vessel for delivery to Boston. (Isaac Asimov’s Book of Facts, p. 446)


It takes 110 silkworm cocoons to make a tie, 630 for a blouse and 3000 for a kimono. (Nina Hyde, in Reader’s Digest)

Rene de Reaumur, a French entomologist, found that while it took 2,500 
silkworms to produce one pound of silk, 265 times as many spiders would be needed to obtain a similar amount. (Reader’s Digest: Strange Stories, Amazing Facts, p. 108)

It takes seventy-five thousand crocus flowers to produce one pound of saffron – which is why it is the most expensive spice in the world. (Noel Botham, in The Ultimate Book of Useless Information, p. 190)

The sponge filters morsels of food out of the seawater that passes through its pores. Before it can obtain enough food to gain an ounce of body weight, a sponge must filter a ton of water. (Isaac Asimov’s Book of Facts, p. 130)

Star Wars: For the climactic battle sequence, which includes dogfights in space and missile runs on the Death Star, Lucas gathered all the old war movies he could find and spliced together their aerial-combat footage. “We did that to get an idea of how to set up this scene,” he explains. “It was all very complicated, with the most complicated sound problems, mixing and special effects.” The dashing ten-minute sequence took eight weeks to edit. (Condensed from Time, in Reader’s Digest)

It took about 20 long poles and up to that many buffalo hides to make a big tepee. (L. M. Boyd)


Forty to fifty tons of ore must be refined to obtain one ton of uranium.  
(E. C. McKenzie, in Tantalizing Facts, p. 42)

A single ear of corn takes 25 gallons of water to develop. And a ton of 
steel requires 60,000 gallons of water. (L. M. Boyd)

A scientist at Michigan State University has calculated that the production of a single hen egg requires about 120 gallons of water, a loaf of bread requires 300 gallons, and a pound of beef, 3,500 gallons.
(Isaac Asimov’s Book of Facts, p. 131)

It would take 27,000 spiders, each spinning a single web, to produce a 
pound of web. (David Louis, in Fascinating Facts, p. 75)
It takes two hundred thousand frowns to produce one wrinkle. (Barbara Seuling)
1. If you have a beaver coat, you are wearing 15 dead beavers.
2. If you have a bobcat coat, you are wearing 11 dead bobcats.
3. If you have a chinchilla coat, you are wearing 60-100 dead chinchillas.
4. If you have an ermine coat, you are wearing 150 dead ermines.
5. If you have a fox coat, you are wearing 15-25 dead foxes.
6. If you have a leopard coat, you are wearing 4-5 dead leopards.
7. If you have a lynx coat, you are wearing 10 dead lynx.
8. If you have a mink coat, you are wearing 35-65 dead mink.

9. If you have a muskrat coat, you are wearing 60 dead muskrats.

10. If you have an ocelot coat, you are wearing 12-25 dead ocelots.

11. If you have an opossum coat, you are wearing 25 dead opossum.

12. If you have a raccoon coat, you are wearing 20-40 dead raccoons.

13. If you have an river otter coat, you are wearing 18 dead river otters.

14. If you have a sable coat, you are wearing 45-60 dead sables.

15. If you have a Swakara lamb coat, you are wearing 28-30 dead Swakara lambs.

16. If you have a tiger coat, you are wearing 3-10 dead tigers. (Wallechinsky/Wallace, in The Book of Lists - #3, p. 141-142)
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